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- 742,158 919,465 846,846 1,094,364 1,217,043

B B AT & 38,751 55,846 78,619 158,364 194,397
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RET D BI% B A = A i A 34,082 49,366 72,618 131,885 158,355

DB R = (1,576) (2,651) (2,733) (385) (1,852)

N E 32,506 46,715 69,885 131,500 156,503
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BREE 346,886 337,872 382,527 423,809 531,483

wmaE (430,368) (359,955) (319,339) (138,117) (179,025)
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(93,076) (33,923) 40,722 264,742 330,556

His: R =F EE =G AR+ ACETABREE S GRS =G AACHRALFEILERKS

B ARG R EEAERE 1258 (BRERD (MRl 22 & -

2 BE & B A R
—EENEFERS



